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choose the correct answer  :--:Aaspual) laY) i)

tan 1 x2

(1) lim P

x—0
(@) -1 (b) = (©) -3 (d)1

X 2 ,
2) fx) = 5 (The vertical asymptotic line is) s o )l o &) Ll

x2 4+ 2x —
a)x=1 b)x=-3

A)x=-1 c)dh e

2_1q
@3) lim>—- =

x1 Inx?

(@) ®) 1 © o (@) b s

x2+1

(4) » f(x) = (slant asymptotes): \ll Jil o i) Lall

x—3
b)y=x+3 a)y=x—3
d)y=x+1 c) 251

o EFE2
() lim 2

(a) 1 (b) 325234 s£(doesnot exist) (¢) —1 (d)—2

X

6) Iim(l +%) =

X—00

1 -2
OF (b)e

2
(7) lim xx =

X—00

(a)1 (b) -1
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G f A Gl e 1) Sl S8 au i (8)
(Draw the graph representing the statement of the function f.)

f1D=0,7(0) =0, lim f(x) =-1,lim f(x) =1

f(x) =sin2x cax = 0 ¥e y = f(x)dalne 3 (9)

(Numerically estimate the slope of the curve)

(@~ ®) ~3 (©) ~ 2 ) ~1

_ x2—-x-2
e

(@3 ®) 3 © 5 @3

(11) lime ™ =
x—0

(a) % (b) _Tl (c)—2 (d)3s:525 »£(does not exist)
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- =i l I
(12) Um_g(x) +10 = e

(a)— 3 (b) 335234 »&(does not exist) | /J
(-2 (@3 A

4 B3 -

2
(13) Ii_ng(l - 3x)x =

(a) 1 (b) 2 ()0 (d) #2525« £ (does not exist)

2x —
) G =

-0 [3x| —2x

(a) % (b)1 (¢) % (d) 32523« 1= (does not exist)

1
(15) lim2 + x% sin (—) =
x—0 X

(a) 1 (b) —2 (d)0
(16) chl_)rg In(2x) =

(a) —oo (b) (d) 525234 s£(does not exist)

x—1
17) im————=
a7 ViIo—x-3

(@) 6 (b) 10
a0 e Tra

(a)1 (b)2

x
[ g I—— A
(19) timtan™ (—32o7)

(@)= )5
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The set of non — contact points of the function 4l Juaily) hiiidc geza (20)

sinx : x<0
flx) = {&? :0<x<?2
4x -3 : x>0

(a) {0,2} (b) {0,2,3} (o){0} (d){2}

The set of non — contact points of the function U Juaidy) bliide gaza (21)

f(x) = xcotx

(a) {x:x=nmn € z} (b) {x:x:ng,nEz}

o

The set of non — contact points of the function WU Juail) biliidc gana (22)

(d)s2s> 54 »£(does not exist)

1
@ =5

(a) {-1,2} (b) {—2,2} (e){—2} (d){2}
Al Al Laie (585 AY B Y (23)
The period during which the function is continuous

x+ 2

f®=a——s

(a) R/{1} (b) R/ {3,-2} () RY (d) R/ {3}

Alaia A\l Waie 683 AN 5 N (24)
The period during which the function is continuous

f(x) =In(3x—4)

@G wfd] el @l
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Aluatia Allal) Wale e85 AN 5 58N (25)
The period during which the function is continuous
f(x) =sin(1 + &%)
(@) R (b) R (¢c) R* (d) R™

= kin (1 + e7)
2

i /\Mﬂ
IRV

X+ 2 5. f .
(26) f(x) = P T (The vertical asymptotic lines are)iuw! )il « sl b gas

(a)x = 4 (b)x=-2,x=4 (0)x=-2 (d)x=8

3
x . .
(27) » f(x) = T a2 (slant asymptotes): dlall JLal o jlE] Jasl)

b)y=x—-2 a)y=x+2
dy=x c) b e
(28)There are two horizontal asymptotes of the function
Al sl Gl U5 A 2
f(x) =3 tan"1(x)

w

by =3:¥

dy="a="

(29) f(x) =

(a)x=2 (b)x=1In2 (¢)x=1In3 (d) =5
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(30)There are two horizontal asymptotes of the function
Alall Lsd) Gl U8 bl 2o
% 1
VxZ +5

(@) y=-1 (b)y=1 (c)y=5 (d)y=+1

f(x) =

(31) Find a function g such that the function that does not have a vertical

asymptote and has a slanted asymptote
y=x Jla g aly oy o5 s gt Gud ANl 06< Cuny @ AN 23

x*—3

g(x)
(@) g(x) =x+1 (b)g(x) = x* +1

(Oglx) =x (d) =5

f&) =

2
_§ x"+5 X >0 2y JlaiNie g L
(32) f(x)_{—5x+cosx x<0 d &

(@)s (b) ey

() 55 (@)
) lx=7] . . I
33) x='2x f(x)=x2+1 Al Jaail pae Jalii 2a

(o) 1 (b) £1 () -1

ax? + 7x
34) lim — =
( ) x—';?:o 2x2 -7

(a)a=2 (b)a =16 (€)a = +4
s S} (Slal aa
gl 12 Y) pa
6




